
X-sect = 5.255E-03(pb)   AVG = 1.010E+00   RMS = 0.000E+00
Tot # Evts =   50000  Entries =    8329  Undersc =     0  Over



X-sect = 5.255E-03(pb)   AVG = 1.000E+00   RMS = 0.000E+00
Tot # Evts =   50000  Entries =    8329  Undersc =     0  Over



X-sect = 5.255E-03(pb)   AVG = 1.000E+00   RMS = 0.000E+00
Tot # Evts =   50000  Entries =    8329  Undersc =     0  Over



X-sect = 5.255E-03(pb)   AVG = 1.000E+00   RMS = 0.000E+00
Tot # Evts =   50000  Entries =    8329  Undersc =     0  Over



X-sect = 5.255E-03(pb)   AVG = 1.000E+00   RMS = 0.000E+00
Tot # Evts =   50000  Entries =    8329  Undersc =     0  Over



X-sect = 5.255E-03(pb)   AVG = 1.000E+00   RMS = 0.000E+00
Tot # Evts =   50000  Entries =    8329  Undersc =     0  Over



X-sect = 5.255E-03(pb)   AVG = 4.134E+02   RMS = 9.864E+01
Tot # Evts =   50000  Entries =    8313  Undersc =     0  Over



X-sect = 5.255E-03(pb)   AVG = 8.839E+01   RMS = 4.172E+01
Tot # Evts =   50000  Entries =    8314  Undersc =     0  Over



X-sect = 5.255E-03(pb)   AVG = 8.231E+01   RMS = 4.415E+01
Tot # Evts =   50000  Entries =    7825  Undersc =     0  Over



X-sect = 5.255E-03(pb)   AVG = 6.231E+01   RMS = 2.684E+01
Tot # Evts =   50000  Entries =    8321  Undersc =     0  Over



X-sect = 5.255E-03(pb)   AVG = 6.169E+01   RMS = 2.691E+01
Tot # Evts =   50000  Entries =    8322  Undersc =     0  Over



X-sect = 5.255E-03(pb)   AVG = 4.227E+01   RMS = 2.419E+01
Tot # Evts =   50000  Entries =    8322  Undersc =     0  Over



X-sect = 5.255E-03(pb)   AVG = 4.307E+01   RMS = 2.464E+01
Tot # Evts =   50000  Entries =    8326  Undersc =     0  Over



X-sect = 5.255E-03(pb)   AVG =-1.867E-02   RMS = 1.219E+00
Tot # Evts =   50000  Entries =    8329  Undersc =     0  Over



X-sect = 5.255E-03(pb)   AVG =-1.102E-02   RMS = 1.416E+00
Tot # Evts =   50000  Entries =    8325  Undersc =     1  Over



X-sect = 5.255E-03(pb)   AVG =-6.523E-03   RMS = 1.434E+00
Tot # Evts =   50000  Entries =    8325  Undersc =     4  Over



X-sect = 5.255E-03(pb)   AVG =-1.220E-02   RMS = 1.418E+00
Tot # Evts =   50000  Entries =    8323  Undersc =     3  Over



X-sect = 5.255E-03(pb)   AVG = 4.300E-03   RMS = 1.452E+00
Tot # Evts =   50000  Entries =    8326  Undersc =     3  Over



X-sect = 5.255E-03(pb)   AVG = 1.550E+00   RMS = 8.962E-01
Tot # Evts =   50000  Entries =    8229  Undersc =     0  Over



X-sect = 5.255E-03(pb)   AVG = 1.622E+00   RMS = 8.946E-01
Tot # Evts =   50000  Entries =    8201  Undersc =     0  Over



X-sect = 5.255E-03(pb)   AVG = 1.788E+00   RMS = 8.475E-01
Tot # Evts =   50000  Entries =    8195  Undersc =     0  Over



X-sect = 5.255E-03(pb)   AVG = 1.799E+00   RMS = 8.429E-01
Tot # Evts =   50000  Entries =    8187  Undersc =     0  Over



X-sect = 5.255E-03(pb)   AVG = 1.643E+00   RMS = 8.852E-01
Tot # Evts =   50000  Entries =    8202  Undersc =     0  Over



X-sect = 5.255E-03(pb)   AVG = 1.407E+00   RMS = 8.787E-01
Tot # Evts =   50000  Entries =    8253  Undersc =     0  Over


